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QUESTION 1

Which result occurs when a VSAN is deleted that contains non-trunking ports?
A. The ports are moved to VSAN 4094.

B. The ports are moved to VSAN 1.

C. The ports are removed from the configuration.

D. The port configurations are cleared.

Correct Answer: A

QUESTION 2

Refer to the exhibit.

MDS-Core
IVR

MDS Edge

fc1/2 T fc1/2 fe1/1

Array 10 — vsan 10 Cost =500 Server 20 — vsan 20

MDS-Core# show ivr vsan-topology
AFID SWITCH WWN Active Cfg. VSANS

Total: 1 entry in active and configured IVR VSAN-Topology

pWWN = 10:00:00:00:00:00:10:0a pWWN = 20:00:00:00:00:00:20:0a

An engineer is configuring Inter-VSAN routing for two Cisco MDS switches. The FSPF cost between the switches is

500, and the Cisco MDS core virtualizes an IVR NAT domain as shown. Which statement about the topology is correct?

A. The MDS-Core simulates an IVR NAT, and the FSPF cost is 500.

B. The MDS-Core simulates an IVR NAT, and increases the cost to 501.
C. The MDS-Core simulates an IVR NAT, and decreases the cost to 400.
D. The MDS-Core simulates an IVR NAT, and increases the cost to 600.

Correct Answer: B

QUESTION 3

Latest 300-625 Dumps | 300-625 Practice Test | 300-625 Braindumps 214


https://www.pass4itsure.com/300-625.html
https://www.pass4itsure.com/300-625.html
https://www.pass4itsure.com/300-625.html

. VCE & PDF https://www.pass4itsure.com/300-625.html
a 2024 Latest passditsure 300-625 PDF and VCE dumps Download
== / PassditSure.com

Refer to the exhibit.

username san-user password 5 515DybH1KSISPWV.SZ2PODN1nvdXBE%adW. role sangroup

MDE-A# =sh usgers | i san
san-user pts/l Jun 23 18:46 . 29473 (192.168.254.1) session=ssh

Role: sangroup
Description: new role
Vsan policy: deny
Pernitted wvsans: 10-30

1 permit config *
2 deny confic wvsan
3 permit exec fcping

MDS-A(config)# fspf config wvsan 500
% VSAN permission denied

The san-user must configure FSPF on the VSAN 500, but fails. An operator with network administrative rights must
authorize the san-user to perform this work. Which configuration must the operator apply?

A. MDS-A(config)# role name sangroup MDS-A(config-role)# no rule 2
B. MDS-A(config)# role name sangroup MDS-A(config-role)# rule 4 permit config feature fspf
C. MDS-A(config)# role name sangroup MDS-A(config-role)# rule 2 permit config feature vsan

D. MDS-A(config)# role name sangroup MDS-A(config-role)# vsan policy deny MDS-A(config-role-vsan)# permit vsan
500

Correct Answer: D

QUESTION 4

Refer to the exhibit.

switch-1 (config)# zoneset name Zone-B vsan 100
Zoning database update is progress, command rejected

Which command is used to determine which switch has the lock?
A. show fcs ie vsan
B. show zoneset active

C. show zone status
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D. show flogi database

Correct Answer: C

QUESTION 5

Refer to the exhibit.

Switch 1
Ivr nat

ivr vsan-topology auto

ivr service-group name GROUP1

autonomous-fabric-id 100 vsan-ranges 1-3, 100

autonomous-fabric-id 1 switch 20:00:00:05:31:11:32:ac vsan-ranges 1
autonomous-fabric-id 1 switch 20:00:00:05:40:12:1e:dd vsan-ranges 1-3

Switch 2

ivr vsan-topology auto

ivr service-group name GROUP2

autonomous-fabric-id 100 vsan-ranges 1, 6-7, 200

autonomous-fabric-id 1 switch 20:00:00:05:31:11:32:ac vsan-ranges 1
autonomous-fabric-id 1 switch 20:00:00:05:40:12:1e:dd vsan-ranges 6-7

What is the result of merging the fabric?

A. The merged fabric IVR VSAN topology is set to activate.
B. The merged fabric has NAT enabled.

C. The merge is invalid.

D. The merged fabric contains only service group Groupl.

Correct Answer: D
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